SIDES BOTTOM

1 PCS 3/8-16X1 1/2 Screws Installed

1 PCS 3/8-16 hex nut

Material:Steel-Malleable Casting Galvanized

9.4 [0.37]

e

20.2 [0.80]

e
L
174 [0.69]

#1/2-13 UNC HOLE

43.8 [1.72]

46.0 [1.81]

;

~

N

/
T

I7Z

#3/8-16 UNC HOLE

DESCRIPTION

#3/8-16, SCREW

#3/8-16, NUT

This data sheet is for reference only .GARVIN INDUSTRIES reserves
the right to make changes to the design without prior notice.

TRADE REFERENCE TERMS

PPACKING GARVIN INDUSTRIES
”C” STYLE BEAM CLAMPS
25 PCS SIZE DWG NO. REV
A4 MCC-1213
DATA SHEET

garvinindustries.com



rdomlewski
Typewritten Text
garvinindustries.com




